32003ER13CRANE

USER MANUAL
EffectiveSerial Number5369

Serial Number:

Date:
RKI, Inc.

2301 Central Parkway
Houston, TX. 77092
Phone: 7136884414
Fax: 713688-8982
www.rkius.com

WO0054 Rev C, 120/17



32003ER15 CRANE

TABLE OF CONTENTS

Description Pagés)
PACKING LISTMOUNTING KLT ... .o e et e 2
IMPORTANT NOTICE. . ... e e e e e e e e 3
SPECIFICATIONS . . . e —— 4
OVERALL DIMENSIONS . . ... e e e e e e i 5
CAPACITY CHART . e e e e e e e e e e e 6
INSTALLATION INSTRUCTIQONS. . .. . e e e 7-8
OPERATING INSTRUCTIONS . . ... e e e 9-11
INSPECTION & MAINTENANCE SCHEDULE. . . ....... ... .. ... .. . ., 12
LUBE & HYDRAULIC FLUID SPECIFICATIONS. . . ... .. e i e e 12
TURRET ASSEMBLY. .. . o i e e e e e e e 1318
BOOM ASSEMBLY. . . e e 19-20
WIRNG SCHEMAT I . o e e e e e e 21
ELECTRICAL LAYQUT . . . e i e e e e e e e e e e 22-23
HYDRAULIC LAY OU T, . . e e e e i e e e e e e e e e 24
TRAVEL BLOCK ASSEMBLY, . . . .o e e e e e e 25
ANTI TWEBLOCIKSY STEM . . ... e e e e e e 26
OVEROAD SENSOR CALIBRATION. . . . oo e e e e e e 26
REPLACEMENT PARTS & ACCESSORIES .. ... ... . . ieeaaa 27
TROUBLESHOOTING. . . . .o e e e e e e e e e e e 28
LIFETIME WARRAN T Y . . . e e e e e e e e e 29



PACKING LIST
The following items are included with your BRDOO-3ER1%rane:

1 ¢ Crane Assembly

1 ¢ Crane User Manu&ivV00%4)

1 ¢ Remote ControlERmodel 45480: Tethered, 21ftvith Emergency Stop
1 ¢ Mounting Kit(43749

ITEM | PART # |QTY|DESCRIPTION
1 07885 | 1 |WASHER-FLT 3/8 N
2 07892 | 8 |WASHER-FLT 5/8 W
3 40911 1_|BOLT-HX 3/8-16X7/8
4 43512 | 6 |CLIP-BODY F/BATTERY CABL
5 43738 | 1 |WIRE ASY-#02 36.0 GRND
) 43739 | 4 |BOLT-HX 5/8-11X3 G8
7 43740 | 4 |NUT-HX 5/8-11 G8
8 45155 | 1 |BRKT-3200 SWITCH MSTR
9 45156 | 1 |SWITCH-MSTR CUTOFF
10 45157 | 1 |WIRE ASY-PWR CRANE 12"
11 45158 | 1 |WIRE ASY-PWR BATTERY 25'
12 45174 | 1 |FACEPLATE-SWITCH MSTR
13 45480 | 1 |REMOTE-3200ER 21FT
14 | *43211 | 1 |CONNECTOR-CABLE FEM SKT

* INCLUDED WITH CRANE POWER WIRE (ITEM )

3200:3ER15 CRANE



32003ER15 CRANE

IMPORTANT NOTICE

RKI, Inc. cannot possibly know or even anticipate all of the varied uses and applications that may be found for its
crane products. For that reason, the company expressly disclaims any and all responsibility for the manner and
methods used by the installexf these products. The company recommends that the installer of its crane products
follow sound engineering principles and comply fully with each and every applicable ANSI, OSHA or other safety
standard.

Safety Warning RKI, Inc. cranes are not intendénl be used, or incorporated as a component of any other
equipment which may be used for the lifting or moving of people. Any such use is absolutely and categorically
contrary to RKI, Inc.'s recommendation.

INTRODUCTION:

RKI cranes are designed and mautiiged to provide you years of safe, dependable performance.

This manual has been provided to give you specific information regarding the safe operation and upkeep of your
crane.

It is very important that all who operate or service the crane should begihdroughly reading this manual. In
addition, the supervisor, and others concerned with the operation of the crane, should read this manual.
Remember that an uninformed or careless operator can make the operation of any equipment dangerous.

The informaion in this manual helps to insure that your RKI crane is installed properly and operated safely.
However it is not a definitive guide to every possible situation or circumstance. If you have any questions or require
additional information, please contaRKI.



32003ER15 CRANE

SPECIFICATIONS

Model:
3200-3ER5

Moment Rating:
10,000 ft. Ibs

Lift Capacities:
3,200 Ibs. @ 3 ft.
2,000 Ibs. @ 5 ft.
1,429 Ibs. @ 7 ft.
1,111 Ibs. @ 9 ft.
909 Ibs. @ 11 ft.
769 Ibs. @ 13 ft.
667 Ibs. @ 15 ft.

Boom:

The boom anglearies from-5° to +75°.

1% stage telescoping boom extension ranges froro 11' Manual).

2" stage elescoping boom extensiaanges from 11' to 15' (Manual).

Line SpeedApproximately feet per minute (first rope layedouble ling.

Multi -Functions:The crane configuration allows multiple electric and hydraulic functions to be performed
simultaneously, however, multiple hydraulic functions kmated.

Load Sensor:
A load sensor is standard to automatically protect overload.

Anti Two-Block:
Per OSHR9 CFR Palt926.1416(d)(3), Anndi two-block featureis incorporated into the crant preventdamage
from contact between the travel block and the boom.tip

Winch Cable and Block:
62ft of 1/4" galvanized aircraft cable is supplied witaveling block for double line operation.

Electrical:
12 VDGQequired to operate theslectrical solenoid valves control all thgdraulicfunctionsand the contactor for
the hoist winch

Hydraulic:
Selfcontained unit with 2500 psi, 0.5 GPM pump and 16rom serviceable oil filter

Standards:
Meetsor exceeds ANSI B30.5 aD&HA 1910.180 requirements.

Specifications:

-Weights: 605Ibs (product),7461bs (shipping)
-OverallLengthy Q mé 6 MeRL0(dkter@éds RO >
- Width: 1'8"

- Height: 2" 11"

- Base Plate Dimensions: 12" x 12"

- Truck Requirements: 10,000 Ibs. GVWR (Minimum)

Stabilizers and Boom Supports:
-Jack Legy Outriggers, and Boom Supports are available. Call your distributor or RKI for details.



3200:3ER15 CRANE

ey

MOUNTING HOLE PATTERN

10"

10"

@11/16"

)
/'t | 1

Bajim il
]

N

= o

OVERALL DIMENSIONS

SWING CIRCLE

:

- 12" —={8-3/1¢"
_ |

CRANE CENTER OF GRAVITY

4-1/2"

[3200]

=2

21"

83" FULLY RETRACTED
131" INTERMEDIATE (POWER) EXTENSION

179" COMPLETE EXTENSION




3200:3ER15 CRANE

3200 SERIES CAPAGIRHART

_ NOTES:
[2576 1) Overload Protection Limits:

| Hoist Up, B Extend and
~—_ oist Up, Boom Extend an
D Boom Down

B

“\ 2) 2,000 Ibs. Hoist Capacity
2972 N (1338 3) Use 2 Part Line Only
/
/
FT YT}

/
[T~/

N AT
N\

BOOM HEIGHT - FEET

|
([ //\ \\ ) \ \ [770] \
\\i‘[@ /><|:1571 \\ § A 888 ] \ \
ANVZAND CAER
@) )ﬂ\ 1283 \ \
\ AT\

N\
A= \E \

e
e

= *@@@@@@Q@?@@@@@@@

=)

1479
@ RIS ~
g\ Al
TTYIE

[833 |
1833 |

()
@@Ly
1429
250
1000

~
®—{F]
@&

é@éé M&#&Doé@

BOOM RADIUS - FEET & CAPACITY -LBS

(o)—H3200

o o



32003ER15 CRANE

10.
11.

12.
13.

14.

15.

16.

17.

18.

19.

INSTALLATION INSTRUCTIONS

Vehicle should meet minimum GVW rating of 10,000 Ibs.

The crane mounting base must be capable of safely supporting the crane assembly and its maximum
capacity of 10,000 fibs loading. The support structure for the nmiing base must be tied directly to the
main frame members of the vehicle.

¢tKS OSKAOtS Ydzad 068 SldALIISR gAGK 21 01tS83a SEGSYR
Disconnect the ground cable from ti#S K A latte§ (@).

Drill four 11/16¢holesonav n&lj dzr N LI G GSNY G2 YIGOK GKS Y2dzyiAy:3
or cut a 4€ hole centered on the crane mounting pattern. Thi& hole provides clearance foouting of
the power and ground wirethrough the base plate

Installi KS ONJ yS 022Y adzLIR2NIZ LRAAGAZ2YSR RANBOGf & dzyl
crane, do not support the crane under the hydraulic cylinders.

The crane is electrically grounded through the tapped hole provided in at the bottom of seeduall.

Attach the #2ga ground cable to this tapped hole with aB83bolt, and then secure the ground cable to

GKS GNHzO1 Qad FTNIYSe® ¢KS ONIrySQa 3INRBdzyR OFo6ftS Yle& |
service or utility body itself @ NP dzy RSR G2 GKS {(NHzO1 Qa FNI YSO

Lift the crane using the lifting rings and place on the mounting location. 18&8all1 Grade 8 mounting

bolts with nuts and washerdNote: Use only bolts, nuts, and washers provided with cr@menot substitute

and do ot reuse bolts that have been previously torqued.

Install master cutoff switch bracket. Line up bracket with the two rear bolts so that the bracket is along the
FINJ AARS 2F (GKS ONIyS O2YLINIYSylio Lyalicecd WKSA Tk
Tighten the5/8-11 Grade 8 bolts in a criggoss pattern, alternating until torqued tB0ft-Ibs (zinc plated).

If crane is being installed on a service or utility body, seal around all holes and bolts with silicone or

equivalent sealer. 8o seal around crane mounting plate.

Locate, attach, and adjust a boom support to contact the main boom behind the hook catch.

PGaGrOK GKS mMuHé LIGSNI O2NR 0SG6SSy GKS ONIySQa |jdza
the 25ft powercordi 2 G KS 20 KSNJ GSNXYAYIlIE 2F GKS YIFadSN Odziz2 ¥
TNIYS NIXAf G2 GKS @SKAOtESQa o0FGGSNBES® /I NB Ydald oS
burrs, sharp edges or anything that would chafe or cut thigle insulation. The cable should be secured to

the frame using body clips or wire ties. Use rubber grommets when cable passes through bulkheads.

[ dzi OFo6ftS G2 GKS YAYAYdzy NBldZANBR tSy3idK FyR 02yy
the appropriate lug or clamp connection.

LT KS @SKAOfSQa yS3IIGAGS ANRdzyR OFo6otS Aa 3INRBdAzyRS
OFroftS FNRY (KS ySardAgsS LkRad 2F GKS o6FGGSNe G2 (K
The vehicle should be equipped with animum 125amp alternator, but a larger capacity is highly

recommended. Alternator performance is significantly affected by vehicle RPM and temperature. At

standard truck idle speeds, the alternator output can be as low as half of rated capacity.

The vehia should be running during crane operation, and it is recommended that it run at an elevated idle.

A 25Bamp resettable circuit breaker is recommended for all crane installations (not included) to protect the
battery in the event of accidental groundinfitbe power cable.

A stability test is required per OSHA 1910.180(c)(1) to determine the load rating of the completed vehicle



